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1x1x3.14x7=21.98(mL)
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thS 97159 AAEA AAZEE O] 7HR 0] LolE FoHAl L

O

>
[> &= 37.68cm

A2 o) h)= (WH] U] 4F)
= 6x2x3.14 = 37.68(cm)




Fyol7t 157cm? Q1 W71 2] 252 do|7t 10em € o,
0] & oA L.

> E. cm

[> HE': 5cm




W07} 452.16cm? 0] 3, 17} 5425.92em?® 1 Y71 5] 0|
SHA 2.

-

» E cm

[> HED 12em

i

B
(Fo)= (ZBHol)x (¥=°l)
(ol) = (1) + (24lol)
= 5425.92 + 452.16 = 12(cm)
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fylo]7} 219.8cm

€ 7oA.

[ ]x2x314x7=2198

[ ]x43.96 =219.8

[

5(cm)




10. AMEE 2, 97159 2yolg ot L.

@

TT~12.56em 7 |

[ 2
> FEeHD 100.48 cm?

(Ft2]5)= 1256 + 3.14 + 2 = 2(cm)
(AHo]) = (2x2x3.14) x 2+ 12.56 X 6
= 25.12 4 75.36 = 100.48( cm?)
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® 942 cm? @ 1256 cm? @1884cm2
@ 2198 cm? ® 2512 cm?
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0])=10 x 10 x 3.14 = 314( cm?)
20 x 3.14 x 20 = 1256( cm?)

— 314 X 2 4 1256 = 1884( cm?)
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12. tieal 22 AL g utE 97|15 0] Hull 3 o3

1|7 cm
]
1
/
/
< _;3 cm
> E cmd
> Hehl 480.42cm?

A 7

A 2.

(97159 Fo) = (FF 2H e Hol) x (¥°])
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9cm

o] AAE AL o] AL 2715

e s,

(F3))= (4x 4% 3.14) x 9 = 452.16(cm?)




14. o=2 97159 =AY o] 97152 FuE oA L.

\
13cm
/
E 8cm
> & cm?
> HE: 2612.48cm3

(F7159 Fu)) = (F 29 Hel) x (&°)
= (8x8x3.14) x 13
= 2612.48(cm?)




15. gL 97159 AAEYU. o 97159 £us FatAe.

O

\

\
17cm
//
< %6 cm
> CF cm3
> & 1921.68cm3

(6% 6 x 3.14) x 17 = 1921.68 (cm? )




16. theT 22 AL R THE 4715 9]

@

Fo=2 cm?® 917

12cm
//
( ,‘ §4 cm
> & cm?
> Hehl 602.88 cm?

T L

(27159 2u))=(2 2H] Hol)x (%)
=4x4x3.14 x12 = 602.88 3




17. o2 292 27159 AA=YU o] AAZ2 97152 WS 1,
7152 H3)5 T2,

7cm
/
@3 cm
> = cm?®
> ™2 197.82cm?

(3% 3 x3.14) x 7 = 197.82(cm?)
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>

“‘6ecm”

| 2
> =g 11304.cm?
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\
10cm
1
/
/

(F1)=6x 6 x 3.14 X 10 = 1130.4( cm?)
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4em, E017F 5em Q] Y7159 M=

=% cm Q] F5HA L.

- X

L =
| [5cm
) QE
» E: cm
[> Hgh. 185.84cm
U715 9] AANZAA FHQA ZAZH o] 7tz o] ol W9
At ZH Y

(Tx2x3.14) x4+ (5% 2)
= 175.84 + 10 = 185.84(cm)




20. & 97159 Yol 1406.72cm? YUt} o] 9759 Hu

NP
8cm
PO N
v
v
@ 6018.44cm? @ 5678.52cm? @ 5024cm?
@4019.2em3 ® 314cm?

rr
WL

B
47159 &5 [ |em 2} 54
8X8x3.14x 2+ 16 x 3.14 x[_| = 1406.72
401.92 +50.24 x| | = 1406.72

50.24 x[ | =1004.8

I:’ = 20(cm)

(27159 Ho]) =8x8x3.14x20
= 4019.2(cm?)




